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OANO0OO0O AABe AUOUO A¢€AU00 B¢ ADOOOOOOOSub(FOODOO A Berl'onQ
O0ABeSub(F)ODOOOODODOOO X+AB=AANBOOOOweakeningOOOOO XFIT'=A0O
goooogo

ooooo (ooo)

oo 8

X000 cwt 000000000000 O0D0O0D0O000O0ODODOOOTIVAC OO
XY I'=s=ADOOOr CrtfoAcCc ATOxX Y I'*f= At 00 000000000
' At000000

(00) ¢={R,F,...,F,}000000000000;=4;(i=0,1,...,n0)000000000
F():>A0 = I'=A

Fp,Iy1 = Ay (X Fp, Iy = A, 000)

Dy= 4 = {Fk_1:>Ak_1,Fk (00OODOO0)



goooooobz20030 DOoboooooooooaog 7

ooo0i=0,1,..n0000 XY =>A,0000000000cut000000

Iy = Ap—1, Fry Fi, T = Ap—q
Iy 1= Ag

0I=>A,000000i0000000000000000T,=A4,0000 I'*=At0000
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